15TH JUNE 2020			Jesus and Mary School  			 Module - 7
				Class-5	  
				      Mathematics
		        Addition & Subtraction
Subtraction of large numbers-
We have already learnt the properties of subtraction. Now we have to learn addition and subtractions together and word problem based on subtraction.
Example- 
(1) Solve 32,817+ 4,39,086 -2,81,645
Step 1 - First add 32,817 and 4,39,086
				     32 817
		          	           + 439 086
				 _________
                                                 4,71,903

Steps 2 - Now subtract 2,81,645 from 4,71,903
                                                     4 71 903 
                                                   - 2 81 645
				    __________
                                                     1 90 258
	So 32,817 + 4,39,086 – 2,81,645 = 1,90,258 Ans
(2)  Shashank's father bought an LCD for₹ 72,809and a Computer for ₹32,565How much more did he pay for LCD ?
Solution -	Cost of LCD			=₹72,809
	Cost of computer			 =  ₹32,565
He paid extra money for LCD 		 = 72809	-	32565
				72809
·  32565
______
40244
He paid ₹40,244 extra money for the LCD					 			
				                             


WORKSHEET – 7
NOTE: DO THE FOLLOWINH EXERCISES IN YOUR COPY.
Q.1 Simplify the following -
(a) 90,81,532 + 81,35,642 – 33,41,785
(b) 8,11,341 + 7,00,817 – 3,42,842
(c) 4,83,217 – 3,15,842 + 7,00,107
Q.2 A library has 1,25,853 books.  32,806 more books were donated on Gandhi Jayanti. If 10,151 more books were issued for the library. How many books are available in the library now?
Q.3 A factory produced 3,48,354 bulbs is a year. In the next year, it produced3,92,048bulbs. How many more bulbs did the factory produce in the second year?
[bookmark: _GoBack]Q.4 The population of a town is 72,84,573.out of these, 31,00,453 are males. How many females and children are there in the town?
				Solution of Work Sheet-6
Ans1.(a) 37,88,854 		(b) 75,30,93,040   
Ans2. (a) 38,870 		(b) 13,21,892  			(c) 88,75,367
Ans3. (a) 21,42,397 		(b) 11,93,40,188
Ans4. .Other number = 34,50,500


					

